Scope of delivery: Play equipment ascendo 1 B Robinia

Item-No.: 517502601

&
Name ‘ Quantity ‘ Unit
ascendo 1B tower 1,00 Stk
ascendo firemen's pole 1,00 Stk
ascendo climbing slant 1,00 Stk
ascendo slide 1,00 Stk
ascendo add-on swing 1,00 Stk
ascendo connection pipe swing 1,00 Stk
aluminium shaft d=80,4mm 1,00 Stk
swing seat green 1,00 Stk
swing chain 1,90 m 2,00 Stk
pipe connector powder-coated 42.4 green 2,00 Stk
cylinderhead screw M10x20 galvanized 4,00 Stk
lense head screw M10x20 2,00 Stk
lense head screw M10x70 2,00 Stk
washer &10,5 2,00 Stk
lense head screw M12x30 4,00 Stk
cylinderhead screw M12x110 4,00 Stk
washer @13 12,00 Stk
hexagon cap nut M12 4,00 Stk
heavy duty dowels 10-50-56/125 A4 7,00 Stk
heavy duty dowels 16-30-46/150 A4 24,00 Stk
stilum GmbH | Gewerbegebiet Larsheck | 56271 Kleinmaischeid | Tel.: +49 2689 9580-0 | info@stilum.de | www.stilum.com Date: 29.06.2023

All rights and product modifications reseved. Page 1



